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1.

h educational intervention 18
arners ?

Whic
not suitabl_e for slow le

1) Acceleration
2) Remedial teaching

3) Drill work

4) Cooperative teaching method

‘Which of the following

characteristics is not related to the
concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility
2) Serialization
3) Animism

4) Conservation

A leaming difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

4) Dyscalculia
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: d by
to be learné
4. o« UH g a7 G S g 9o 4. When the Iemn and difficult and
dar X @few & dur IEH gHH H a child is laalg orsiatding.
e I cequires a {5 of U7 will
H-d Ry guge el ? then which nﬁthod of learning
be appropriate ?
1) fom fafy | : 1) Spaced method
2) o fafy _ 2) Whole method
3) affawH fafy ' 3) Massed method
4y ST ferfer ' 4) Incidental method
5. gaasl fen @ awd ® 5. Inclusive Educ I_filtlon means :
1) M &9 § IR s=at 3 e 1) Educanon‘for socially depnved
raTe children 2
2) feam T=a1 & fow farem 2) Educationtor disabled children
3) M U9 R s==i & fou 3) Education for normal and
ferem disabled children
Ay gt I=a1 3 fomo farem ' 4) Education forall_children
6. wHg @ B faeid d gE B 6. Which three aspects of
fop M Teqetl X S AT TR g7 ~ intelligence are emphasized in the
triarchic theory of Sternberg ?
(a) HeHIA (a) Componential
(b) STTHITH (b) Experien‘t_iia.l :
(c) HRRATEE (c) Operatiopal :
(d) GeHiwD (d) Contextu§
7el Fe [ FqT HIT - Choose the Cﬁrect code :
Code :
@ '- -
1) (@, (b) ud (c) 1) (@), (b) & ()
2r (b), (c) QET (d) 2) (b), (c) & (d)
3) (a), ® wd (d) 3) @), () & @
: 4
4) (a), (C) e} (d) ' ) (a): (C) & (d)
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Choose the correct code of the

following factors, which affects
learning :
(a) Motivation (b) Aptitude
(c) Interest (d) Attention
Code :
v h o) & (d)
2 @ &
3) (@&(©)
H @ O Gs@
<t

process ¥
1) Physical PP°
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11.

12.

13.

14.

Which of the following is not 3

principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is
predictable.

3) Development
path.

4) Development proceeds from
general to specific.

follows linear

Which of the following is not a
common .characteristic of social
development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping
3) Search for identity
4) Hero-worship

Which teaching maxim is not
beneficial for the
disabled children ?

1) Simple to compiex

learning

Lt

2) Abstract to concrete
3) Direct to indirect
4) Known to unknown

- Which of the following is not a
Principle of effective learning ?

1) Motivation

2) ' Individual approach
3) Passive attendance
4) Feedback
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t of heredity.

ation which promotes

doing' and ensures the

_ interaction with their

lowing pair is not
y  motivational

~ Proponent
- Atkinson
cal Maslow

Woodworth

Achievement Mc'Clelland
Motivation theory

b
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SR
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21. ﬁtﬁ%ﬁaﬂﬁﬁqﬁ'—rﬂa—@ﬁmm
F 99T 78 © 2

1) e 589
2) - fagciyoneh 999
3) gAHIUD HIT
4) R &= 94
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19. The frue meanin

20.

21.
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g of continuous
and comprehensive evaluation is :

(a) Taking frequent tests

(b) Taking continuous tests at
appropriate intervals

(c) To evaluate scholastic and co-
scholastic both aspects

(d) Measuring
achievements

only educational

Choose the correct code :

Code :

1) (b) & (d)

2) (b) &(c)

3) (a), (b) & ()

4) (b), (c) &(d)

In Pavlov's conditioning theory,

which factor does not positively

affect the conditioning between

natural and artificial stimuli ?

1) Appropriate timing of stimuli
- Presentation

2) Repetition of stimuli

3) Controlled environment

4) .LaCk of motive

Which of the following is not '
objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

|
G Scanned with OKEN Scanner



ages of Kol‘dberg‘.;; moral

ent theory are not related

(¥ Scanned with OKEN Scanner




Join Telegram Group "HaryanaJobs.in"

[10/B] =
25. Pyt & @ @A-E FD

26.

21.

1) 9§
2) THlEEN AW A AR
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_
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25.

26,

21.

‘Which of the following factor does
influence the development of
factors ?

not
child under environmental

1) Nutrition s
2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

According to Gagne, to what

highest level of learning should a

teacher strive to take students ?
1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning

'Law of use' and '‘Law of disuse' is

related with which law of learning

'_ according to Thorndike's learning
theory ?

1) _Law of readiness

2) Law of exercise @

4
) Law of multiple response

3) Law of effect
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~through  mental
"esses  like attention and
reflectiby is called :
1) Imguveleumnq
2) Moﬁ learning

. proe

3) Coghitive learning
4) Affective learning
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3 / ENGLISH ate option.

ri
ng the mos
P—"EEEE?_’L Answer the following questions by seleW

entence which
49. Choose'tje paxt ot

46. Choose the correct tense form to

x 1s mcorlﬂ'ct
fill in the blank : ﬂgjﬁﬁ / not breaked / the
The Headmaster ............ to meet & O (B)
' ot ' who
it , ;_eg_q__.__lﬂl'“?—]‘g/ by Bradman wio
1) want - (©) D)
2) wants % made 10,000 runs in his career ?
.3)1s wanting | 1) A i 2) B
4) was wanting : 3 C 4) D
47. Choose the option that gives the 50. Choose the correct option for the
correct meaning of the given given om word :
phrasal verb : Sinecuré&y
Send for - 1) onegho lives by hlmself
1) starton ajourney 2) an affice with no work but high
2) reach to a decision Py

3) surgery without anesthesia

_3)—call someone in 4) cure by naturopathy

4) improve

51. Choose the option that gives the

48. Change the narration to Reported correct meaning of the given

speech and choose the right option : phrasal verb :
I said to him, "Do you know when Ciive in
ahe will go.home: T 1) distribute 2) deposit
1) Itold him if he knew when she 3 donate 4) surrender
will go home ? - _ v
2) Isaid to him that did he knew 52. Fill in @he blank with the mos
when she would go home. appropﬁ%te modal awxhary

Your mEﬂher is seriously il You

-3} I asked him if he knew when cﬂea ve for home at once.

she would go home.

_ (obligation) B
4) I said to him that did he know 1) needs 2) rmgt
when will she go home ? 3) could " i e
[ Level-2/ 1201 ] ‘ a
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Choose the correct tense form to
I gllin the blank :
She jumped off the train while it
I) moved 2) had moved

3) hasmoved 4) wasmoving

=
‘_i .
., Choose the wnost appropriate

preposition to ﬁﬁn the blank :
Mohan gazed ‘a
the hope of rain.

1) at 2) unto
3) Dbesides 4y into

5. Choose the correct preposition to
fill in the blank :

Hetold all .......... the incident.

1) between 3) among

3) beside ,gff about
i

o
56. Choose the fost appropriate
preposition to fill in the blank :

1 am going home the day

tOmOITOW.
1) in 2) on
3) after 4) at

571. Choose the correct option to fill in
the blank: ™
l_—"l
........... had t}f‘_é_j police reached
than the thievesfied.
48]
v1) Assoonas 2) No sooner
3) Scarcely

4) Aswell
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58. Choose the option that gives the

correct meaning of the phrasal
verb :

Turn out '
1) toevict someone @
2) to kill someone '

3) to ridicule someone

_4) togive legal notice to someone

59. Fill in the blank with the most

appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he

didn't want to depend on his fair
weather friends.

A). Friends who come from rich
family.

42 Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) - Friends who no longer live
with you.

60. Choose the correct option that

gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?
2)
~3)
4)

Has the work been done ?
Had the work been done ?

Will the work be done ?

[ Level-2/1201 ]
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g1 — 11l / PART — il
g e /| GENERAL STUDIES
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AT A, Wi TG T W ST o off / Quantitative Aptitude, Reasoning

Ability and|G. K. & Awareness

Fwr : Frgfifed oot & Sor 33 & foe v oftm Rrees IR

Directioni¥ Answer the following questions by selecting the most appropriate option.

aﬁﬂA e F, B A zs‘r’, o
‘TN H F D TR A FER
W E, E?fZOCIZBBAZDS

TR T ¢
1) 16 2) 18
3y 32 4) 36

mwwz4ﬁﬁiﬁaﬁ@4
e wfty goer § @9 F 8, A g
g0 T A P T = ©

1) 4 fHHt /"9
2) 4.2 [&H 99
3) 4.4 /g9
4) 4.5 fHHI 97

63. Ru T R & 4 fuw & @

P
1) fﬂﬁﬂ 2y dom
3)frer 4) T

-

64. gRM16-4=2,9-3=2,81-3=4

@f,.rti}!’f 64-4 H I 8
1) 3 2y 2
3) 4 4) 6

[ Level-2/1201 ]

i

61.

62.

63.

64.

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied by’
then20C 12B8A2D6isequalto:
1) 16 2) 18

3) 32 4) 36

A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr. The average speed in
covering the whole distance is :

e

Find the odd word from the given

1) 4 km/hr

2) 4.2 km/hr
3) 4.4 km/hr
4) 4.5km/hr

alternatives :
1) Violin 2) Harp
3) Guitar 4) Flute

1f16—4:2,9—3:2181—3:4,
then the value of 64 —4is:

2) 2

4 6

1) .3
3) 4

_—
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\ B . ‘ | . | G
| @¥: 65. The missing term of the following
65. ﬁﬁﬁm At % g9 seriesis :

DBC, KIJ, Q@®, 2, ZXY
DBC, K], QOP, 2 ZXY -
v 1) VUW g) usv
1) VUW 2y US
o 3) UTV % VU
3) UTV 4) - m
. th
2 = 66. If 10 persons can complete (—-)
o, 10 e oo wnd 7 (2] 5
_ SRR of a work in 8 days, then how many
o & ¥ 8 R @ EA A ?5'-& _ persons are required to complete
el 2 RAFAT FH B the remaining work in 12 days ?
Ria R sl ) TR et ? i e
- L 3) 10 ) 12
3)_-10 4) 12 ) M
671. TSH H TH U #, A T e 67. In a row of boyfﬁﬁ is 7th from the
73 @ B T @ 124 WH W left and B is 12tHifrom the right. If
3, ot % @ ¥ TR WREdd | they interchange their positions A
Rer oem B, &1 A B G T 8 becomes 22nd from the left. How
2231 ®M & I g, o g A & : many total boys are there In a
(ﬁiﬁ H gE B _ Tow ?
1) 21 2y 31 1) 27 2) 31
3) 33 4) 34 3) 33 4) 34
68. A, Ud faem & uft=d H 8 FHHI = 68. A travels 8 km from East to West and
%amaﬁng%*ﬁaam%gﬁ turns right and travel 2 km. Now
zd geat 5 Bt =ww & a1 W@ again he turn right,and travel 5 km. In
oA ﬁ‘slﬁ F @3q 7 o fopg f&am which direction 'r"s\_;fhe now positioned
¥ Rqz? with reference toStarting point ?
poasd
1) afeor-uigaH 1) South-West (™
1
@ ST-ufeEH ¥ 2) North-West
3) Gﬁ-{-_llzj [ﬁi:ﬂ. 8) North-East
4) W_g\g[ 4) South-East

5

'k Foe

[Level-2/1201 ]
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[18/B] b |
- . the father of X, B1s
60, % o ¥, A, X @ R & B Y A 69. Imna;a;uhsz;:‘;‘hesmemfxand
qer X, X 92 # as*r#Y a2l 4 eis e A S ering
Fapiy :1:; 1—; ;TT o statement is definitely nof trué ?
Tfa::qqﬁq—(—.ﬁ% . 1) BisthewifeofA
2y B # T T '2) Bhas adaughter
3) X,A®H 333 3) Xistheson of A
4) Y,ZH TSIE%% '4) Yis the sister of Z
o™
Io.ﬁawﬁ%ﬁsﬁsﬁwﬁa 70. If A walks 8 km South then turn
AR TE e 6 Rl T & q right and walks 6 km and again
o - R # geRt 10 FE turns North-East and walks 10 km.
el ®, @ A URAE ﬁlﬁ q foat How far is A from the starting
T WE? point ?
1) 0 feet 2) 8 fHl 1) Okm 2) 8km
3) 10 feAt 4) 12 fHl 3) 10km 4) 12km
71. af fFf %< @T # 'PROJECT & 71. If 'PROJECT is coded as 'CEOPRT
'CEOPRT' TYIPLANE' @& 'ELNP' and 'PLANE' is coded as 'ELNP' then
RFaT ST &, GIORGANISED' &' 3! the 'ORGANISED' will be coded
e e & frer S v s 2 as : -
1) ADEGIOSR 1) ADEGIOSR W\
2) ADEGIROS 2) ADEGIROS % @
3) ADEGOIRS 3) ADEGOIRS :
4) ADEGIORS 4) ADEGIORS
72. T @9 B9 FH AR TH ﬁ‘ﬂﬁ‘f N 72. The base of a right prism is a
ForereeT  GRATq Sgﬁiﬂ g AR ﬁ‘f_ﬁ &l triangle whose perimeter is 32 cm
3iq: B 6 @T@ gie s 1 I and the inradius of the triangle is
576 ¥ 9 sé’_. é‘psaa‘ir Eviﬂé' e 6 cm. If the volume of the prism is
({E 576 cc, then its height is :
1) 4 84 2) 5 H 1) 4 cm 2) 5 cm
3 6§l 4) 8 & 3) 6 cm 4) 8 cm
[Level-2/1201]
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15.

76.

.

dor 21 8, @ T

e & |

A 6 o

3) 10 4) 12

2 frs el A qun B &, A
S W FHY 5:2 T 3: 4

@@ B F 21 R el @6 T W

qg o o ¥, 3@ T P g A

S e ST B SO R 7

1) 1:2 - |

3) 2:3 4) 1:1

IR 7 cosec 0 — 3 cot O = 7 &l O

mWﬁa,ﬁTcotB—S
cosecH F AM ® : :

1) 3
3) 38/1

2); BC
i -V o

@ gEe, 0% 45 18% H T
e 2 ore A 94 18 B9
% o 2, df @9 18% @ ol I
qe] 1 H9 YA (573 #) #

1) 600 2) 540

3y 350 4) 380

[Level-2 /1201 ]

13.

14.

15.

- 16.

11.

3) 1B
R

wa)  3/1

If the number of diagonals of a

regular polygon is 27, then the

number of sides is : S
— _

1) 6+ 2) 9

4) 12

In twg alloys A and B, the ratio of
copper and zinc is 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B ‘are mixed
together to form a new alloy. What
will be the ratio of copper and zinc

. in the new alloy ?
a2

2) 2:1

) S s :
3) HS 4 1:1

=

If7 co9sec 0 -3 cot 0 =7 where O 1s
in ﬁfﬁ quadrant, then the value of
1 00;3 — 3 cosec 0 is equal to :

1) 2) 5
4) 5/1

If an equilateral triangle ABC be

inscribed in a circle, then the

" tangents at their vertices will form

another triangle is :
1) Scalene triangle
2) Isosceles triangle
3) Equilateral triangle
4) R_i_‘ght angled triangle
if; |
A shopkeeper sells an article at 15%
gain'.:‘glad he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :
1) 600 2) 540
3) 350 4) 380
'3 |

: ‘ '%
AT
e

P g O
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18. A R JEw § 7w G L

0, 3,9, 12, 36, 39, 42, 120, 360
1) 12 » 39
3) 42 4) 360

79. A TAIGH TSN F AR 3 §, AR
I G H A 369 @, d I

Tl & I E
L
)
1) 28 =2) 21
3) 31 m 4) 33

80. fe & TH Ik H W,
WA H 12 TAT qUT AEA B B
TR, dl ARk I|d dued 36 &,

a7 B

1) 2706 H 2)- 2736

3) 2796 — 4) 2766
‘:r*

81.€%mﬁﬁaﬂm%ammﬁ
t? 0

1) g

2y fieR

3) HWe=TE

4) ST

82. ZoflotHodlo H! ATHA, T PRITIK
ﬁ’ﬁurvﬂ%waaﬁ%

i_|
1) §T0Q0@Tgﬁﬁa§
2) ot GHR gA S
3) st o THo FEHA
4) o FEER S

[ |
[ Level-2/1201] =
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18.

19.

80.

81.

82.

Find the wrong number in the
gwen series :

0,3,9,12, 36, 39, 42, 120, 360

1) 14 2) 39

3) 42 4) 360

The difference between two

positive numbers is 3. If the sum of
their squares is 369, then sum of
the numbers is :
1) 25

3y 481

2)- 21
4y 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is : '
1) 2706 2) 2736
3) 2796 4) 2766

In Haryana, where the Vulture

Conservation Centre is located ?

1) Jind ¥
2) Pinjore |
3) Mahendragarh @

4) Ambala

The UPSC Chairman, who
subsequehtly became the

Governor of Haryana :

1) Dr.A.R. Kidwai

2) Shri Muzaffar Husain Berney
3) ShriB. N. Chakravarti

4) Shri Mahabir Prasad
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1) UHTd

L2y TR

3) dgE

4) FHRA
e i |

. ]

IR R I o @ A 8

0411

1) ﬁﬁtﬁaﬁﬁ'{laﬁ'{r'
2) A fema
;g—&uqﬁ1ﬁ§bmaa

' o
4) T S

™
86. aﬁwﬂﬁhﬂﬂﬁﬁwﬂﬁ%?

Y95 2) 49

3) 143

4) 74

o 1 el

[Level-2 / 1201 ] e
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84.

85.

86.
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In which district of Haryana, the
Khelo India Women's Archery
ranking competition was organised ?

1) Sonipat

'2) Panipat

3) Karnal

4) Yamunanagar

Where in the Haryana, the National

Institute of Fashion Technology is

located ?

1) Panipat
2) Ambala

LS

The Scheme, which is being run by
the

replace paddy crop with more

3) Panchkula
4) Kurukshetra

Haryana government to

tradition crops is :

1) MeriFasal Mera Byora
2) Meri Virasat

3) Mera Pani Meri Virasat

4) Hamara Dhan

How many Tehsils are there in

Haryana ?
1) 98 2) 49
3) 143 4) 74
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Who among the following Sages of
Haryana was popularly known as
Puran Bhagq‘dt T

1) Baba l\gst Nath

2) Baba %rakh Nath

3) Baba Chaurangi Nath

4) Baba Puran Nath

Who is the Chief Information

Officer of Haryana ?
1) Smt. Jyoti Arora

; 2) Dr.Jagbir Singh

=
3) Shri Vijay Vardhan

<! _
4) Smt. Kamaldeep Bhandari.

.
59,

During th'Eam revolt of 1857, who
among the following attacked
British establishments in Rohtak ?

1) Tafzal Husain
2) ImamAli

3) Mohar Singh
4) Harsukh Rai

The Morni hills of Haryana belongs

. 1
to: 5%

1) A:ava.@range
2) Hinduﬁjsh range
3) Outer Hnge of Himalayas

4) Inner range of Himalayas
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